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B Cnm (Hons ) 2nd Semmster -w.e.f. Academm Sesslun
2014-15 onwards (Currant Scheme)
; 'Examination, May-2023

FINANCIAL ACCOUNTING FOR BUSINESS-II
Paper-BCHN 2.01

Time allowed :'3 hours'] [ Maximum marks : 80

Note : Attempt five questions in all, selecting one question
from each unit. Question No. 1 is compulsory. All

questions carry equal marks.
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le (a) Give any four differences between hire-purchase

and instalment payment system.
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(b) Define maintenance suspense account.
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g (c) Howmllyoudealwﬂm ‘Goods in transit’ and‘ ‘ash

in Trans1t’ under du'ect method ?
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(d) What is unrealised profit in departmental 1
accounts?
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(¢) What is revaluation account ?
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(f) Clarify the difference between dissolution of aq
firm and dissolution of partnership.
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(2) Distinguish between royalty a;id rent. >
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(h) What is sub-lease ? g |
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What do you understand by hire purchaaejlyﬂe:;j Isit 3

L credltsale ?Dlsungwshbetweenhnrepu:chasesym -
Qand Instalment payment system.
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: 3. Bharat gas company purchased a machinery on hire-
purchase basis on 1* July, 1991. The cash price of the
machinery is Rs. 75,000. The purchasmg company
agreed to pay Rs. 15,000 on signing of the agreement
and balance in six half-yearly mstalments of Rs. 10 000
plus interest @ 12% p.a. on unpald amount The
purchasmg eompany ‘has decided to 'wnte off

mié‘--depreelsn'en@m% p.a. on original costbasis.
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Give necessary ledger accounts in the books --

closed on 31st December each year. '
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4. What is branch adjustment account ? How will you

record ‘Normal Loss’ and ‘Abnormal Loss’ under ‘SIC!K
and debtors’ methad‘?
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(b). When goodwill appears atRs. 50,000, and

Rmdthcmessary ]m.lmal entries :

(@) When no goodwill appears in the books

(¢) 'When goodwill appears at Rs. 1,00,000. &
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8.  Pass Journal entries in the books of lessee when :

(a) Royalty is more than the minimum rent.

(b) Royalty is less than the minimum rent.
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9.  Shri Bhagat Ram took two mines. The first was taken
from Hari for a royalty of Rs. 5 per ton with a minimum
rent of Rs. 25,000 per annum and with the right to
recoup short-workings throughout the term of the lease.
The other was taken form Rajendra for a royalty of
Rs. 7.50 per ton with a minimum rent of Rs. 75,000 p.a.
and with the right to recoup short-working extending to

' the payment due on 31st December, 1981. On

1# January, 1981, short-workings account showed a

debit balance of Rs. 27,500 out of which Rs. 12,750
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relates to the first mine. During the year 1981, the
output raised from the first mine was 4,700 tons and
from the second mine 11,400 tons.

Give journal entries in the books of Shri Bhagat
Ram to record these transactions and bring out the
balance of short-workings account for the year ended
December 31, 1981.
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Note: Attempt five questions in all, selecting
ﬁ;;g;e mﬁm each unit. Question No. 1 is cc
{] ~ questions carry equal markx. nf;zﬁwg %
dle : g% FHE @ O 99T ;I ﬂﬂmgw
e e 1 o &1 i g @
'1 A & I Jedonl oSl .'
¥% Explain the following in bricfssii AU
Pt 1 it e AR : |
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W" _fe) Cyclical fluctuations
() Two Properties of Regression Coefficients
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\ '('g) Statistical quality control
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(h) Inverse Probability -
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Unit-IV

The following data refers to visual defects found during
the inspection of the first 10 samples of size 50 each

from a lot of two wheelers manufactures by an

- automobile company : "-

Sample No. 12345‘678910

No.of Defects| 4 |3 |2 |3|4|4|4|1|3]|2

Draw ‘P’ chart to show that the fraction defects are

under control.
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Note & Attempt five questions in all, se!ecrfng one question ;}.-,;':'
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1. Explain the following in brief
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(a) Contingency approach . i
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(h) Grapevine Communication
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S.  Explainthe following: ' *"-"*'""“};';i-,_
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(@)  Growth strategy il
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(b) Formulation of strategic Plan
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Explain the foliowing :
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(b) Bconom:c aﬁd Financial .Measures?
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B.Com. (Hons.) 2nd Semester w.e.f. Academic
Session 2014-15 Onwards (Current Scheme)
Examination, May-2023
INTRODUCTION TO COMPUTERS (THEORY)
‘ : Paper—BCHN 2.06

Time allowed : 3 hours ] [ Maximum marks : 60

Note : Attempt five questions in all, selecting one question

@ _ f;dm each unit. Question No. 1 is compulsory.
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1. Write short notes on following :
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Assembler
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Application Software
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competition. Explain. .
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(i1) Role of technology in economic growth .
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6.  Write in detail forms of industrial d1sputes and discuss
causes of industrial disputes,  * 7 ¥ 16
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7. What authorities have been set up under the Industri
Disputes Act for the investigation and settlement of
industrial disputes? 16
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8. State briefly the provisions of Factories Act, 1948 |
regarding the hours of work and leave with pay. 16
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9, Briefly state the provisions of Factories Act, 1948 with
regard to health, safety and welfare of the workers ina
Factory. 16
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